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3. A9 A=x2+3x-2 B=3x2-2x+1,C=4x2+2x-3 9|
tfj 5o
3A - {5A — (3B - 4C)} + 2B & 7tHs| 51?2
@ 3x2+12x-13 @ -3x%2+24x+21
® 3x2-12x+21 C@)—sz —24x+ 21

® x24+12x+11

B ~
34— (5A — (3B — 4C)) + 2B

=-2A+4+5B-4C

=-2(x2+3x-2) +53x% - 2x + 1) —4(4x% + 2x - 3)

= -3x% - 24x + 21




S oatA A B Hste] A+ B=-x3-2x2+4x+5,2A-B =
4t —x? —x+1 4 o, 7 o34 A, B E F5HH?

D A=x34+x>+x+2, B=-2x3-3x2+3x+3
@A:x3—x2+x+2, B=-2x>-x>+3x+3
@ A=x3-x2+x-2 B=-2x3-x2+3x+7
@ A=x>-x2-x+2, B=-2x3-x>+5x+3

® A=3x>-3x24+3x+6, B=-4x>+ x>+ x-1

B ~
A+B=-x3-2x2+4x+5---Q
2A-B=4x>-x>-x+1---©

OD+O)+3: A=x>-x2+x+2

(2090-0©)+3: B=-2x3-x2+3x+3
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. (v-2y-307S AAsk] xo] that RAEom Bejshu?

D x? + 4y? + 9z% — 4xy + 12yz — 62x

@ x% —4xy+4y? — 9722 + 12y7 — 6zx
@x2 — (4y + 62)x + 4y? + 12yz + 972

@ 4y? +12yz + 92% + (—4y — 62)x + x*

® 922 +4y* + x2

(x =2y —32)% = x? — (4y + 62)x + 4y? + 12yz + 972




8. xtytz=4, xytyztzx =1, xyz =24 H, (xy+yz) (yz+zx)(zx+xy)
o) g Toh?

o1 @5 O @ 2 ® 1

~&B

(xy +y2)(yz + 2x) (2x + xp) =

xy +yz + zx = 15 °|-&5ko] HFsHH

(xy + yz)(yz + zx)(zx + xy)
=(1-zx)(1-xy)(1-y2)

=1-(xy +yz+ zx) + (x®yz + xy%z + xyz%) = (xyz)?
=1-(xy+yz+2zx) + xz(x +y + z) — (xyz)?
—1-1+2-4-4

=4
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(x—a)(x=b)(x—c)
=x3-(a+b+c)x* + (ab + bc + ca)x — abc
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(1+2x—3x2 +4x% — 5x* + 6x° + 7x5)2 o] ZA7jAlof|A] &3 o] Al4=E=2

® 0 @ 2 @2 @4 ©G)u




10. (& +ax+2)(x2 +bx+2)E ANAS W], 2 3 2] A& 50
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1




